

# Vieta–Fibonacci-like polynomials and some identities\*

Wanna Sriprad, Somnuk Srisawat, Peesiri Naklor

Department of Mathematics and computer science,  
Faculty of Science and Technology,  
Rajamangala University of Technology Thanyaburi,  
Pathum Thani 12110, Thailand  
wanna\_sriprad@rmutt.ac.th  
sommuk\_s@rmutt.ac.th  
1160109010257@mail.rmutt.ac.th

*Submitted: April 22, 2021*

*Accepted: September 7, 2021*

*Published online: September 9, 2021*

## Abstract

In this paper, we introduce a new type of the Vieta polynomial, which is Vieta–Fibonacci-like polynomial. After that, we establish the Binet formula, the generating function, the well-known identities, and the sum formula of this polynomial. Finally, we present the relationship between this polynomial and the previous well-known Vieta polynomials.

*Keywords:* Vieta–Fibonacci polynomial, Vieta–Lucas polynomial, Vieta–Fibonacci-like polynomial

*AMS Subject Classification:* 11C08, 11B39, 33C45

## 1. Introduction

In 2002, Horadam [1] introduced the new types of second order recursive sequences of polynomials which are called Vieta–Fibonacci and Vieta–Lucas polynomials respectively. The definition of Vieta–Fibonacci and Vieta–Lucas polynomials are defined as follows:

---

\*This research was supported by the Faculty of Science and Technology, Rajamangala University of Technology Thanyaburi

**Definition 1.1** ([1]). For any natural number  $n$  the Vieta–Fibonacci polynomials sequence  $\{V_n(x)\}_{n=0}^{\infty}$  and the Vieta–Lucas polynomials sequence  $\{v_n(x)\}_{n=0}^{\infty}$  are defined by

$$\begin{aligned} V_n(x) &= xV_{n-1}(x) - V_{n-2}(x), & \text{for } n \geq 2, \\ v_n(x) &= xv_{n-1}(x) - v_{n-2}(x), & \text{for } n \geq 2, \end{aligned}$$

respectively, where  $V_0(x) = 0$ ,  $V_1(x) = 1$  and  $v_0(x) = 2$ ,  $v_1(x) = x$ .

The first few terms of the Vieta–Fibonacci polynomials sequence are  $0, 1, x, x^2 - 1, x^3 - 2x, x^4 - 3x^2 + 1$  and the first few terms of the Vieta–Lucas polynomials sequence are  $2, x, x^2 - 2, x^3 - 3x, x^4 - 4x^2 + 2, x^5 - 5x^3 + 5x$ . The Binet formulas of the Vieta–Fibonacci and Vieta–Lucas polynomials are given by

$$\begin{aligned} V_n(x) &= \frac{\alpha^n(x) - \beta^n(x)}{\alpha(x) - \beta(x)}, \\ v_n(x) &= \alpha^n(x) + \beta^n(x), \end{aligned}$$

respectively. Where  $\alpha(x) = \frac{x + \sqrt{x^2 - 4}}{2}$  and  $\beta(x) = \frac{x - \sqrt{x^2 - 4}}{2}$  are the roots the characteristic equation  $r^2 - xr + 1 = 0$ . We also note that  $\alpha(x) + \beta(x) = x$ ,  $\alpha(x)\beta(x) = 1$ , and  $\alpha(x) - \beta(x) = \sqrt{x^2 - 4}$ .

Recall that the Chebyshev polynomials are a sequence of orthogonal polynomials which can be defined recursively. The  $n^{\text{th}}$  Chebyshev polynomials of the first and second kinds are denoted by  $\{T_n(x)\}_{n=0}^{\infty}$  and  $\{U_n(x)\}_{n=0}^{\infty}$  and are defined respectively by  $T_0(x) = 1$ ,  $T_1(x) = x$ ,  $T_n(x) = 2xT_{n-1}(x) - T_{n-2}(x)$ , for  $n \geq 2$ , and  $U_0(x) = 1$ ,  $U_1(x) = 2x$ ,  $U_n(x) = 2xU_{n-1}(x) - U_{n-2}(x)$ , for  $n \geq 2$ . These polynomials are of great importance in many areas of mathematics, particularly approximation theory. It is well known that the Chebyshev polynomials of the first kind and second kind are closely related to Vieta–Fibonacci and Vieta–Lucas polynomials. So, in [4] Vitula and Slota redefined Vieta polynomials as modified Chebyshev polynomials. The related features of Vieta and Chebyshev polynomials are given as  $V_n(x) = U_n(\frac{1}{2}x)$  and  $v_n(x) = 2T_n(\frac{1}{2}x)$  (see [1, 2, 5]).

In 2013, Tasci and Yalcin [6] introduced the recurrence relation of Vieta–Pell and Vieta–Pell–Lucas polynomials as follows:

**Definition 1.2** ([6]). For  $|x| > 1$  and for any natural number  $n$  the Vieta–Pell polynomials sequence  $\{t_n(x)\}_{n=0}^{\infty}$  and the Vieta–Pell–Lucas polynomials sequence  $\{s_n(x)\}_{n=0}^{\infty}$  are defined by

$$\begin{aligned} t_n(x) &= 2xt_{n-1}(x) - t_{n-2}(x), & \text{for } n \geq 2, \\ s_n(x) &= 2xs_{n-1}(x) - s_{n-2}(x), & \text{for } n \geq 2. \end{aligned}$$

respectively, where  $t_0(x) = 0$ ,  $t_1(x) = 1$  and  $s_0(x) = 2$ ,  $s_1(x) = 2x$ .

The  $t_n(x)$  and  $s_n(x)$  are called the  $n^{\text{th}}$  Vieta–Pell polynomial and the  $n^{\text{th}}$  Vieta–Pell–Lucas polynomial respectively. Tasci and Yalcin [6] obtained the Binet form

and generating functions of Vieta–Pell and Vieta–Pell–Lucas polynomials. Also, they obtained some differentiation rules and the finite summation formulas. Moreover, the following relations are obtained

$$s_n(x) = 2T_n(x), \quad \text{and} \quad t_{n+1}(x) = U_n(x).$$

In 2015, Yalcin et al. [8], introduced and studied the Vieta–Jacobsthal and Vieta–Jacobsthal–Lucas polynomials which defined as follows:

**Definition 1.3** ([8]). For any natural number  $n$  the Vieta–Jacobsthal polynomials sequence  $\{G_n(x)\}_{n=0}^{\infty}$  and the Vieta–Jacobsthal–Lucas polynomials sequence  $\{g_n(x)\}_{n=0}^{\infty}$  are defined by

$$\begin{aligned} G_n(x) &= G_{n-1}(x) - 2xG_{n-2}(x), \quad \text{for } n \geq 2, \\ g_n(x) &= g_{n-1}(x) - 2xg_{n-2}(x), \quad \text{for } n \geq 2, \end{aligned}$$

respectively, where  $G_0(x) = 0$ ,  $G_1(x) = 1$  and  $g_0(x) = 2$ ,  $g_1(x) = 1$ .

Moreover, for any nonnegative integer  $k$  with  $1 - 2^{k+2}x \neq 0$ , Yalcin et al. [8] also considered the generalized Vieta–Jacobsthal polynomials sequences  $\{G_{k,n}(x)\}_{n=0}^{\infty}$  and Vieta–Jacobsthal–Lucas polynomials sequences  $\{g_{k,n}(x)\}_{n=0}^{\infty}$  by the following recurrence relations

$$\begin{aligned} G_{k,n}(x) &= G_{k,n-1}(x) - 2^k x G_{k,n-2}(x), \quad \text{for } n \geq 2, \\ g_{k,n}(x) &= g_{k,n-1}(x) - 2^k x g_{k,n-2}(x), \quad \text{for } n \geq 2, \end{aligned}$$

respectively, where  $G_{k,0}(x) = 0$ ,  $G_{k,1}(x) = 1$  and  $g_{k,0}(x) = 2$ ,  $g_{k,1}(x) = 1$ . If  $k = 1$ , then  $G_{1,n}(x) = G_n(x)$  and  $g_{1,n}(x) = g_n(x)$ . In [8], the Binet form and generating functions for these polynomials are derived. Furthermore, some special cases of the results are presented.

Recently, the generalization of Vieta–Fibonacci, Vieta–Lucas, Vieta–Pell, Vieta–Pell–Lucas, Vieta–Jacobsthal, and Vieta–Jacobsthal–Lucas polynomials have been studied by many authors.

In 2016 Kocer [3], considered the bivariate Vieta–Fibonacci and bivariate Vieta–Lucas polynomials which are generalized of Vieta–Fibonacci, Vieta–Lucas, Vieta–Pell, Vieta–Pell–Lucas polynomials. She also gave some properties. Afterward, she obtained some identities for the bivariate Vieta–Fibonacci and bivariate Vieta–Lucas polynomials by using the known properties of bivariate Vieta–Fibonacci and bivariate Vieta–Lucas polynomials.

In 2020 Uygun et al. [7], introduced the generalized Vieta–Pell and Vieta–Pell–Lucas polynomial sequences. They also gave the Binet formula, generating functions, sum formulas, differentiation rules, and some important properties for these sequences. And then they generated a matrix whose elements are of generalized Vieta–Pell terms. By using this matrix they derived some properties for generalized Vieta–Pell and generalized Vieta–Pell–Lucas polynomial sequences.

Inspired by the research going on in this direction, in this paper, we introduce a new type of Vieta polynomial, which is called Vieta–Fibonacci-like polynomial.

We also give the Binet form, the generating function, the well-known identities, and the sum formula for this polynomial. Furthermore, the relationship between this polynomial and the previous well-known Vieta polynomials are given in this study.

## 2. Vieta–Fibonacci-like polynomials

In this section, we introduce a new type of Vieta polynomial, called the Vieta–Fibonacci-like polynomials, as the following definition.

**Definition 2.1.** For any natural number  $n$  the Vieta–Fibonacci-like polynomials sequence  $\{S_n(x)\}_{n=0}^{\infty}$  is defined by

$$S_n(x) = xS_{n-1}(x) - S_{n-2}(x), \quad \text{for } n \geq 2, \quad (2.1)$$

with the initial conditions  $S_0(x) = 2$  and  $S_1(x) = 2x$ .

The first few terms of  $\{S_n(x)\}_{n=0}^{\infty}$  are  $2, 2x, 2x^2 - 2, 2x^3 - 4x, 2x^4 - 6x^2 + 2, 2x^5 - 8x^3 + 6x, 2x^6 - 10x^4 + 12x^2 - 2, 2x^7 - 12x^5 + 20x^3 - 8x$  and so on. The  $n^{\text{th}}$  terms of this sequence are called Vieta–Fibonacci-like polynomials.

First, we give the generating function for the Vieta–Fibonacci-like polynomials as follows.

**Theorem 2.2** (The generating function). *The generating function of the Vieta–Fibonacci-like polynomials sequence is given by*

$$g(x, t) = \frac{2}{1 - xt + t^2}.$$

*Proof.* The generating function  $g(x, t)$  can be written as  $g(x, t) = \sum_{n=0}^{\infty} S_n(x)t^n$ . Consider,

$$g(x, t) = \sum_{n=0}^{\infty} S_n(x)t^n = S_0(x) + S_1(x)t + S_2(x)t^2 + \cdots + S_n(x)t^n + \cdots$$

Then, we get

$$\begin{aligned} -xtg(x, t) &= -xS_0(x)t - xS_1(x)t^2 - xS_2(x)t^3 - \cdots - xS_{n-1}(x)t^n - \cdots \\ t^2g(x, t) &= S_0(x)t^2 + S_1(x)t^3 + S_2(x)t^4 + \cdots + S_{n-2}(x)t^n + \cdots \end{aligned}$$

Thus,

$$\begin{aligned} g(x, t)(1 - xt + t^2) &= S_0(x) + (S_1(x) - xS_0(x))t \\ &\quad + \sum_{n=2}^{\infty} (S_n(x) - xS_{n-1}(x) + S_{n-2}(x))t^n \\ &= 2, \end{aligned}$$

$$g(x, t) = \frac{2}{1 - xt + t^2}.$$

This completes the proof.  $\square$

Next, we give the explicit formula for the  $n^{\text{th}}$  Vieta–Fibonacci-like polynomials.

**Theorem 2.3** (Binet’s formula). *Let  $\{S_n(x)\}_{n=0}^{\infty}$  be the sequence of Vieta–Fibonacci-like polynomials, then*

$$S_n(x) = A\alpha^n(x) + B\beta^n(x), \quad (2.2)$$

where  $A = \frac{2(x-\beta(x))}{\alpha(x)-\beta(x)}$ ,  $B = \frac{2(\alpha(x)-x)}{\alpha(x)-\beta(x)}$  and  $\alpha(x) = \frac{x+\sqrt{x^2-4}}{2}$ ,  $\beta(x) = \frac{x-\sqrt{x^2-4}}{2}$  are the roots of the characteristic equation  $r^2 - xr + 1 = 0$ .

*Proof.* The characteristic equation of the recurrence relation (2.1) is  $r^2 - xr + 1 = 0$  and the roots of this equation are  $\alpha(x) = \frac{x+\sqrt{x^2-4}}{2}$  and  $\beta(x) = \frac{x-\sqrt{x^2-4}}{2}$ .

It follows that

$$S_n(x) = d_1\alpha^n(x) + d_2\beta^n(x),$$

for some real numbers  $d_1$  and  $d_2$ . Putting  $n = 0$ ,  $n = 1$ , and then solving the system of linear equations, we obtain that

$$S_n(x) = \frac{2(x-\beta(x))}{\alpha(x)-\beta(x)}\alpha^n(x) + \frac{2(\alpha(x)-x)}{\alpha(x)-\beta(x)}\beta^n(x).$$

Setting  $A = \frac{2(x-\beta(x))}{\alpha(x)-\beta(x)}$  and  $B = \frac{2(\alpha(x)-x)}{\alpha(x)-\beta(x)}$ , we get

$$S_n(x) = A\alpha^n(x) + B\beta^n(x).$$

This completes the proof.  $\square$

We note that  $A + B = 2$ ,  $AB = -\frac{4}{(\alpha(x)-\beta(x))^2}$ , and  $A\beta(x) + B\alpha(x) = 0$ .

The other explicit forms of Vieta–Fibonacci-like polynomials are given in the following two theorems.

**Theorem 2.4** (Explicit form). *Let  $\{S_n(x)\}_{n=0}^{\infty}$  be the sequence of Vieta–Fibonacci-like polynomials. Then*

$$S_n(x) = 2 \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^i \binom{n-i}{i} x^{n-2i}, \quad \text{for } n \geq 1.$$

*Proof.* From Theorem 2.2, we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} S_n(x)t^n &= \frac{2}{1 - (xt - t^2)} \\ &= 2 \sum_{n=0}^{\infty} (xt - t^2)^n \end{aligned}$$

$$\begin{aligned}
&= 2 \sum_{n=0}^{\infty} \sum_{i=0}^n \binom{n}{i} (xt)^{n-i} (-t^2)^i \\
&= 2 \sum_{n=0}^{\infty} \sum_{i=0}^n \binom{n}{i} (-1)^i x^{n-i} t^{n+i} \\
&= \sum_{n=0}^{\infty} \left[ 2 \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^i \binom{n-i}{i} x^{n-2i} \right] t^n.
\end{aligned}$$

From the equality of both sides, the desired result is obtained. This complete the proof.  $\square$

**Theorem 2.5** (Explicit form). *Let  $\{S_n(x)\}_{n=0}^{\infty}$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$S_n(x) = 2^{-n+1} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^i \binom{n+1}{2i+1} x^{n-2i} (x^2 - 4)^i, \quad \text{for } n \geq 1.$$

*Proof.* Consider,

$$\begin{aligned}
\alpha^{n+1}(x) - \beta^{n+1}(x) &= 2^{-(n+1)} [(x + \sqrt{x^2 - 4})^{n+1} - (x - \sqrt{x^2 - 4})^{n+1}] \\
&= 2^{-(n+1)} \left[ \sum_{i=0}^{n+1} \binom{n+1}{i} x^{n-i+1} (\sqrt{x^2 - 4})^i \right. \\
&\quad \left. - \sum_{i=0}^{n+1} \binom{n+1}{i} x^{n-i+1} (-\sqrt{x^2 - 4})^i \right] \\
&= 2^{-n} \left[ \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n+1}{2i+1} x^{n-2i} (\sqrt{x^2 - 4})^{2i+1} \right].
\end{aligned}$$

Thus,

$$\begin{aligned}
S_n(x) &= A\alpha^n(x) + B\beta^n(x) \\
&= 2 \frac{\alpha^{n+1}(x) - \beta^{n+1}(x)}{\alpha(x) - \beta(x)} \\
&= 2 \frac{\alpha^{n+1}(x) - \beta^{n+1}(x)}{\sqrt{x^2 - 4}} \\
&= 2^{-n+1} \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \binom{n+1}{2i+1} x^{n-2i} (x^2 - 4)^i.
\end{aligned}$$

This completes the proof.  $\square$

**Theorem 2.6** (Sum formula). *Let  $\{S_n(x)\}_{n=0}^{\infty}$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$\sum_{k=0}^{n-1} S_k(x) = \frac{2 - S_n(x) + S_{n-1}(x)}{2 - x}, \quad \text{for } n \geq 1.$$

*Proof.* By using Binet formula (2.2), we get

$$\begin{aligned} \sum_{k=0}^{n-1} S_k(x) &= \sum_{k=0}^{n-1} (A\alpha^k(x) + B\beta^k(x)) \\ &= A \frac{1 - \alpha^n(x)}{1 - \alpha(x)} + B \frac{1 - \beta^n(x)}{1 - \beta(x)} \\ &= \frac{A + B - (A\beta(x) + B\alpha(x)) - (A\alpha^n(x) + B\beta^n(x))}{1 - x + 1} \\ &\quad + \frac{A\alpha^{n-1}(x) + B\beta^{n-1}(x)}{1 - x + 1} \\ &= \frac{2 - S_n(x) + S_{n-1}(x)}{2 - x}. \end{aligned}$$

This completes the proof.  $\square$

Since the derivative of the polynomials is always exists, we can give the following formula.

**Theorem 2.7** (Differentiation formula). *The derivative of  $S_n(x)$  is obtained as the follows.*

$$\frac{d}{dx} S_n(x) = \frac{(n+1)v_{n+1}(x) - xV_{n+1}(x)}{2(x^2 - 4)},$$

where  $V_n(x)$  and  $v_n(x)$  are the  $n^{\text{th}}$  Vieta-Fibonacci and Vieta-Lucas polynomials, respectively.

*Proof.* The result is obtained by using Binet formula (2.2).  $\square$

Again, by using Binet formula (2.2), we obtain some well-known identities as follows.

**Theorem 2.8** (Catalan's identity or Simson identities). *Let  $\{S_n(x)\}_{n=0}^{\infty}$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$S_n^2(x) - S_{n+r}(x)S_{n-r}(x) = S_{r-1}^2(x), \quad \text{for } n \geq r \geq 1. \quad (2.3)$$

*Proof.* By using Binet formula (2.2), we obtain

$$\begin{aligned} S_n^2(x) - S_{n+r}(x)S_{n-r}(x) \\ = (A\alpha^n(x) + B\beta^n(x))^2 - (A\alpha^{n+r}(x) + B\beta^{n+r}(x))(A\alpha^{n-r}(x) + B\beta^{n-r}(x)) \end{aligned}$$

$$\begin{aligned}
&= -AB(\alpha(x)\beta(x))^{n-r}(\alpha^{2r}(x) - 2(\alpha(x)\beta(x))^r + \beta^{2r}(x)) \\
&= \frac{4}{(\alpha(x) - \beta(x))^2}(\alpha^r(x) - \beta^r(x))^2 \\
&= (A\alpha^{r-1}(x) + B\beta^{r-1}(x))^2 \\
&= S_{r-1}^2(x).
\end{aligned}$$

Thus,

$$S_n^2(x) - S_{n+r}(x)S_{n-r}(x) = S_{r-1}^2(x).$$

This completes the proof.  $\square$

Take  $r = 1$  in Catalan's identity (2.3), then we get the following corollary.

**Corollary 2.9** (Cassini's identity). *Let  $\{S_n(x)\}_{n=0}^\infty$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$S_n^2(x) - S_{n+1}(x)S_{n-1}(x) = 4, \quad \text{for } n \geq 1.$$

**Theorem 2.10** (d' Ocagne's identity). *Let  $\{S_n(x)\}_{n=0}^\infty$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$S_m(x)S_{n+1}(x) - S_{m+1}(x)S_n(x) = 2S_{m-n-1}(x), \quad \text{for } m \geq n \geq 1. \quad (2.4)$$

*Proof.* We will prove d' Ocagne's identity (2.4) by using Binet formula (2.2). Consider,

$$\begin{aligned}
&S_m(x)S_{n+1}(x) - S_{m+1}(x)S_n(x) \\
&= (A\alpha^m(x) + B\beta^m(x))(A\alpha^{n+1}(x) + B\beta^{n+1}(x)) \\
&\quad - (A\alpha^{m+1}(x) + B\beta^{m+1}(x))(A\alpha^n(x) + B\beta^n(x)) \\
&= -AB(\alpha(x)\beta(x))^n(\alpha(x) - \beta(x))(\alpha^{m-n}(x) - \beta^{m-n}(x)) \\
&= \frac{4}{(\alpha(x) - \beta(x))^2}(\alpha(x) - \beta(x))(\alpha^{m-n}(x) - \beta^{m-n}(x)) \\
&= 2(A\alpha^{m-n-1}(x) + B\beta^{m-n-1}(x)) \\
&= 2S_{m-n-1}(x).
\end{aligned}$$

This completes the proof.  $\square$

**Theorem 2.11** (Honsberger identity). *Let  $\{S_n(x)\}_{n=0}^\infty$  be the sequence of Vieta-Fibonacci-like polynomials. Then*

$$S_{m+1}(x)S_{n+1}(x) + S_m(x)S_n(x) = \frac{4xv_{m+n+3}(x) - 8v_{m-n}(x)}{x^2 - 4}, \quad \text{for } m \geq n \geq 1,$$

where  $v_n(x)$  is the  $n^{\text{th}}$  Vieta-Lucas polynomials.



*Proof.* By using Binet formula (2.2), we obtain

$$\begin{aligned}
 S_{m+1}(x)S_{n+1}(x) + S_m(x)S_n(x) &= (A\alpha^{m+1}(x) + B\beta^{m+1}(x))(A\alpha^{n+1}(x) + B\beta^{n+1}(x)) \\
 &\quad + (A\alpha^m(x) + B\beta^m(x))(A\alpha^n(x) + B\beta^n(x)) \\
 &= xA^2\alpha^{m+n+1}(x) + xB^2\beta^{m+n+1}(x) + 2AB(\alpha^{m-n}(x) + \beta^{m-n}(x)) \\
 &= \frac{4x(\alpha^{m+n+3}(x) + \beta^{m+n+3}(x)) - 8(\alpha^{m-n}(x) + \beta^{m-n}(x))}{(\alpha(x) - \beta(x))^2} \\
 &= \frac{4xv_{m+n+3}(x) - 8v_{m-n}(x)}{x^2 - 4}.
 \end{aligned}$$

This completes the proof.  $\square$

In the next theorem, we obtain the relation between the Vieta–Fibonacci-like, Vieta–Fibonacci and the Vieta–Lucas polynomials by using Binet formula (2.2).

**Theorem 2.12.** *Let  $\{S_n(x)\}_{n=0}^\infty$ ,  $\{V_n(x)\}_{n=0}^\infty$  and  $\{v_n(x)\}_{n=0}^\infty$  be the sequences of Vieta–Fibonacci-like, Vieta–Fibonacci and Vieta–Lucas polynomials, respectively. Then*

- (1)  $S_n(x) = 2V_{n+1}(x)$ , for  $n \geq 0$ ,
- (2)  $S_n(x) = v_n(x) + xV_n(x)$ , for  $n \geq 0$ ,
- (3)  $S_n(x)v_{n+1}(x) = 2V_{2n+2}(x)$ , for  $n \geq 0$ ,
- (4)  $S_{n+1}(x) + S_{n-1}(x) = 2xV_{n+1}(x)$ , for  $n \geq 1$ ,
- (5)  $S_{n+1}(x) - S_{n-1}(x) = 2v_{n+1}(x)$ , for  $n \geq 1$ ,
- (6)  $S_{n+2}^2(x) - S_{n-1}^2(x) = 4xV_{2n+2}(x)$ , for  $n \geq 1$ ,
- (7)  $2S_n(x) - xS_{n-1}(x) = 2v_n(x)$ , for  $n \geq 1$ ,
- (8)  $S_{n+2}(x) + S_{n-2}(x) = (2x^2 - 4)V_{n+1}(x)$ , for  $n \geq 2$ ,
- (9)  $S_{n+2}^2(x) - S_{n-2}^2(x) = 4x(x^2 - 2)V_{2n+2}(x)$ , for  $n \geq 2$ ,
- (10)  $v_{n+1}(x) - v_n(x) = \frac{1}{2}(x^2 - 4)S_{n-1}(x)$ , for  $n \geq 1$ ,
- (11)  $2v_{n+1}(x) - xv_n(x) = \frac{1}{2}(x^2 - 4)S_{n-1}(x)$ , for  $n \geq 1$ ,
- (12)  $4v_n^2(x) + (x^2 - 4)S_{n-1}^2(x) = 8v_n(x)$ , for  $n \geq 1$ ,
- (13)  $4v_n^2(x) - (x^2 - 4)S_{n-1}^2(x) = 16$ , for  $n \geq 1$ .

*Proof.* The results (1)–(13) are easily obtained by using Binet formula (2.2).  $\square$

### 3. Matrix Form of Vieta–Fibonacci-like polynomials

In this section, we establish some identities of Vieta–Fibonacci-like and Vieta–Fibonacci polynomials by using elementary matrix methods.

Let  $Q_s$  be  $2 \times 2$  matrix defined by

$$Q_S = \begin{bmatrix} 2x^2 - 2 & 2x \\ -2x & -2 \end{bmatrix}. \quad (3.1)$$

Then by using this matrix we can deduce some identities of Vieta–Fibonacci-like and Vieta–Fibonacci polynomials.

**Theorem 3.1.** *Let  $\{S_n(x)\}_{n=0}^\infty$  be the sequence of Vieta–Fibonacci-like polynomials and  $Q_s$  be  $2 \times 2$  matrix defined by (3.1). Then*

$$Q_S^n = 2^{n-1} \begin{bmatrix} S_{2n}(x) & S_{2n-1}(x) \\ -S_{2n-1}(x) & -S_{2n-2}(x) \end{bmatrix}, \quad \text{for } n \geq 1.$$

*Proof.* For the proof, mathematical induction method is used. It obvious that the statement is true for  $n = 1$ . Suppose that the result is true for any positive integer  $k$ , then we also have the result is true for  $k + 1$ . Because

$$\begin{aligned} Q_S^{k+1} &= Q_S^k \cdot Q_S \\ &= 2^{k-1} \begin{bmatrix} S_{2k}(x) & S_{2k-1}(x) \\ -S_{2k-1}(x) & -S_{2k-2}(x) \end{bmatrix} \begin{bmatrix} 2x^2 - 2 & 2x \\ -2x & -2 \end{bmatrix} \\ &= 2^{(k+1)-1} \begin{bmatrix} S_{2(k+1)}(x) & S_{2(k+1)-1}(x) \\ -S_{2(k+1)-1}(x) & -S_{2(k+1)-2}(x) \end{bmatrix}. \end{aligned}$$

By Mathematical induction, we have that the result is true for each  $n \in \mathbb{N}$ , that is

$$Q_S^n = 2^{n-1} \begin{bmatrix} S_{2n}(x) & S_{2n-1}(x) \\ -S_{2n-1}(x) & -S_{2n-2}(x) \end{bmatrix}, \quad \text{for } n \geq 1. \quad \square$$

**Theorem 3.2.** *Let  $\{S_n(x)\}_{n=0}^\infty$  be the sequence of Vieta–Fibonacci-like polynomials. Then for all integers  $m \geq 1$ ,  $n \geq 1$ , the following statements hold.*

- (1)  $2S_{2(m+n)}(x) = S_{2m}(x)S_{2n}(x) - S_{2m-1}(x)S_{2n-1}(x)$ ,
- (2)  $2S_{2(m+n)-1}(x) = S_{2m}(x)S_{2n-1}(x) - S_{2m-1}(x)S_{2n-2}(x)$ ,
- (3)  $2S_{2(m+n)-1}(x) = S_{2m-1}(x)S_{2n}(x) - S_{2m-2}(x)S_{2n-1}(x)$ ,
- (4)  $2S_{2(m+n)-2}(x) = S_{2m-1}(x)S_{2n-1}(x) - S_{2m-2}(x)S_{2n-2}(x)$ .

*Proof.* By Theorem 3.1 and the property of power matrix  $Q_S^{m+n} = Q_S^m \cdot Q_S^n$ , then we obtained the results.  $\square$

By Theorem 3.1 and  $S_n(x) = 2V_{n+1}(x)$ , we get the following Corollary.

**Corollary 3.3.** Let  $\{V_n(x)\}_{n=0}^\infty$  be the sequence of Vieta–Fibonacci polynomials and  $Q_s$  be  $2 \times 2$  matrix defined by (3.1). Then

$$Q_S^n = 2^n \begin{bmatrix} V_{2n+1}(x) & V_{2n}(x) \\ -V_{2n}(x) & -V_{2n-1}(x) \end{bmatrix}, \quad \text{for } n \geq 1.$$

*Proof.* From Theorem 3.1, we get

$$Q_S^n = 2^{n-1} \begin{bmatrix} S_{2n}(x) & S_{2n-1}(x) \\ -S_{2n-1}(x) & -S_{2n-2}(x) \end{bmatrix}, \quad \text{for } n \geq 1.$$

Since  $S_n(x) = 2V_{n+1}(x)$ , we get that

$$\begin{aligned} Q_S^n &= 2^{n-1} \begin{bmatrix} 2V_{2n+1}(x) & 2V_{2n}(x) \\ -2V_{2n}(x) & -2V_{2n-1}(x) \end{bmatrix} \\ &= 2^n \begin{bmatrix} V_{2n+1}(x) & V_{2n}(x) \\ -V_{2n}(x) & -V_{2n-1}(x) \end{bmatrix}, \quad \text{for } n \geq 1. \end{aligned}$$

This completes the proof.  $\square$

By Theorem 3.2 and  $S_n(x) = 2V_{n+1}(x)$ , we get the following Corollary.

**Corollary 3.4.** Let  $\{V_n(x)\}_{n=0}^\infty$  be the sequence of Vieta–Fibonacci polynomials. Then for all integers  $m \geq 1$ ,  $n \geq 1$ , the following statements hold.

- (1)  $V_{2(m+n)+1}(x) = V_{2m+1}(x)V_{2n+1}(x) - V_{2m}(x)V_{2n}(x)$ ,
- (2)  $V_{2(m+n)}(x) = V_{2m+1}(x)V_{2n}(x) - V_{2m}(x)V_{2n-1}(x)$ ,
- (3)  $V_{2(m+n)}(x) = V_{2m}(x)V_{2n+1}(x) - V_{2m-1}(x)V_{2n}(x)$ ,
- (4)  $V_{2(m+n)-1}(x) = V_{2m}(x)V_{2n}(x) - V_{2m-1}(x)V_{2n-1}(x)$ .

*Proof.* From Theorem 3.2 and  $S_n(x) = 2V_{n+1}(x)$ , we get that

$$\begin{aligned} V_{2(m+n)+1}(x) &= \frac{1}{2} S_{2(m+n)}(x) \\ &= \frac{1}{4} (S_{2m}(x)S_{2n}(x) - S_{2m-1}(x)S_{2n-1}(x)) \\ &= \frac{1}{4} (2V_{2m+1}(x)2V_{2n+1}(x) - 2V_{2m}(x)2V_{2n}(x)) \\ &= V_{2m+1}(x)V_{2n+1}(x) - V_{2m}(x)V_{2n}(x). \end{aligned}$$

Thus, we get that (1) holds. By the same argument as above, we get that (2), (3), and (4) holds. This completes the proof.  $\square$

By Corollary 3.4 and  $S_n(x) = 2V_{n+1}(x)$ , we get the following corollary.

**Corollary 3.5.** Let  $\{S_n(x)\}_{n=0}^\infty$  and  $\{V_n(x)\}_{n=0}^\infty$  be the sequences of Vieta–Fibonacci-like polynomials and Vieta–Fibonacci polynomials, respectively. Then for all integers  $m \geq 1$ ,  $n \geq 1$ , the following statements hold.

$$(1) S_{2(m+n)}(x) = 2(V_{2m+1}(x)V_{2n+1}(x) - V_{2m}(x)V_{2n}(x)),$$

$$(2) S_{2(m+n)-1}(x) = 2(V_{2m+1}(x)V_{2n}(x) - V_{2m}(x)V_{2n-1}(x)),$$

$$(3) S_{2(m+n)-1}(x) = 2(V_{2m}(x)V_{2n+1}(x) + V_{2m-1}(x)V_{2n}(x)),$$

$$(4) S_{2(m+n)-2}(x) = 2(V_{2m}(x)V_{2n}(x) + V_{2m-1}(x)V_{2n-1}(x)).$$

*Proof.* From Corollary 3.4 and  $S_n(x) = 2V_{n+1}(x)$ , we get that

$$\begin{aligned} S_{2(m+n)}(x) &= 2V_{2(m+n)+1}(x) \\ &= 2(V_{2m+1}(x)V_{2n+1}(x) - V_{2m}(x)V_{2n}(x)). \end{aligned}$$

Thus, we get that (1) holds. By the same argument as above, we get that (2), (3), and (4) holds. This completes the proof.  $\square$

**Acknowledgements.** The authors would like to thank the faculty of science and technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand for the financial support. Moreover, the authors would like to thank the referees for their valuable suggestions and comments which helped to improve the quality and readability of the paper.

## References

- [1] A. F. HORADAM: *Vieta polynomials*, Fibonacci Q 40.3 (2002), pp. 223–232.
- [2] E. JACOBSTHA: *Über vertauschbare polynome*, Math. Z. 63 (1955), pp. 244–276, DOI: <https://doi.org/10.1007/BF01187936>.
- [3] E. G. KOCER: *Bivariate Vieta–Fibonacci and Bivariate Vieta–Lucas Polynomials*, IOSR Journal of Mathematics 20.4 (2016), pp. 44–50, DOI: <https://doi.org/10.9790/5728-1204024450>.
- [4] *On modified Chebyshev polynomials*, J. Math. Anal. App 324.1 (2006), pp. 321–343, DOI: <https://doi.org/10.1016/j.jmaa.2005.12.020>.
- [5] N. ROBBINS: *Vieta’s triangular array and a related family of polynomials*, Int. J. Math. Math. Sci 14 (1991), pp. 239–244, DOI: <https://doi.org/10.1155/S0161171291000261>.
- [6] D. TASCI, F. YALCIN: *Vieta–Pell and Vieta–Pell–Lucas polynomials*, Adv. Difference Equ 224 (2013), pp. 1–8, DOI: <https://doi.org/10.1186/1687-1847-2013-224>.
- [7] S. UYGUN, H. KARATAS, H. AYTAZ: *Notes on generalization of Vieta–Pell and Vieta–Pell Lucas polynomials*, International Journal of Mathematics Research 12.1 (2020), pp. 5–22, DOI: <https://doi.org/10.37624/IJMR/12.1.2020.5-22>.
- [8] F. YALCIN, D. TASCI, E. ERKUS-DUMAN: *Generalized Vieta–Jacobsthal and Vieta–Jacobsthal Lucas Polynomials*, Mathematical Communications 20 (2015), pp. 241–251.